

Solution Problem (7)

(a) We have $T_n = \cos nd$, where $x = \cos d$

Then $T_{2n}(x) = T_n(2x^2 - 1)$ amounts to

$$\underbrace{T_{2n}(\cos d)}_{\cos 2nd} = T_n(\underbrace{2\cos^2 d - 1}_{\cos 2nd})$$

On the other hand, $\cos 2nd = 2\cos^2 nd - 1$,

$$\text{and so } T_{2n}(x) = 2T_n^2(x) - 1$$

(b) We use the identity

$$\underbrace{\cos(n+1)d}_{T_{n+1}} + \underbrace{\cos(n-1)d}_{T_{n-1}} = 2 \underbrace{\cos d}_x \underbrace{\cos nd}_{T_n}$$

$$(c) \quad \frac{dT_n}{dx} = \frac{dd}{dx} \frac{d}{dd} \cos nd = \frac{n \sin nd}{\sin d}$$
$$\left(\frac{dx}{dd}\right)^{-1} = -\frac{1}{\sin d}$$

(7)

$$(d) \quad \frac{d^2 T_u}{dx^2} = - \frac{1}{\sin \alpha} \frac{d}{d\alpha} \frac{u \sin \alpha}{\sin \alpha}$$

$$= - \frac{1}{\sin \alpha} \left(\frac{u^2 \cos \alpha}{\sin \alpha} - \frac{u \cos \alpha \sin \alpha}{\sin^2 \alpha} \right)$$

Solution Problem 8

(a) Let $u(x) = \sum_{n=0}^{N-1} a_n T_n(x)$ } N unknowns
and require

$$\langle T_m, u_{xx} + \lambda u \rangle = 0 \quad \text{for } m=0, \dots, N-3.$$

Together with $u(1) = u(-1) = 0$ N equations.

This yields

$$N \text{ eqs. } \left\{ \begin{array}{l} \sum_{n=0}^{N-1} a_n \langle T_m, T_n'' + \lambda T_n \rangle = 0, \quad m=0, \dots, N-3 \\ \sum_{n=0}^{N-1} a_n T_n(\pm 1) = 0 \end{array} \right.$$

In addition, $\langle T_m, T_n \rangle = \int_{-1}^1 T_m T_n dx = \frac{1}{2} (\delta_{mn} + 1)$

$$T_n(1) = 1, \quad T_n(-1) = (-1)^n$$

Thus we obtain a matrix

